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Section 1 - PaperI-English Language 

 

Read the passage and answer the questions that follow: 
 
Pearl 
A pearl is a hard-glistening object produced within the soft 
tissue (specifically the mantle) of a living shelled mollusk 
or another animal, such as a conulariid. Just like the shell 
of a mollusk, a pearl is composed of calcium carbonate 
(mainly aragonite or a mixture of aragonite and calcite) in 
minute crystalline form, which has been deposited in 
concentric layers. The ideal pearl is perfectly round and 
smooth, but many other shapes, known as baroque 
pearls, can occur. The finest quality natural pearls have 
been highly valued as gemstones and objects of beauty 
for many centuries. Because of this, pearl has become a 
metaphor for something rare, fine, admirable and 
valuable.The most valuable pearls occur spontaneously in 
the wild, but are extremely rare. These wild pearls are 
referred to as natural pearls. Cultured or farmed pearls 
from pearl oysters and freshwater mussels make up the 
majority of those currently sold. Imitation pearls are also 
widely sold in inexpensive jewellery, but the quality of their 
iridescence is usually very poor and is easily distinguished 
from that of genuine pearls. Pearls have been harvested 
and cultivated primarily for use in jewellery, but in the past 
were also used to adorn clothing. They have also been 
crushed and used in cosmetics, medicines and paint 
formulations.Whether wild or cultured, gem-quality pearls 
are almost always nacreous and iridescent, like the 
interior of the shell that produces them. However, almost 
all species of shelled mollusks are capable of producing 
pearls (technically "calcareous concretions") of lesser 
shine or less spherical shape. Although these may also be 
legitimately referred to as "pearls" by gemological labs 
and also under U.S. Federal Trade Commission rules, and 
are formed in the same way, most of them have no value 
except as curiosities.The unique luster of pearls depends 
upon the reflection, refraction, and diffraction of light from 
the translucent layers. The thinner and more numerous 
the layers in the pearl, the finer the luster. The iridescence 
that pearls display is caused by the overlapping of 
successive layers, which breaks up light falling on the 
surface. In addition, pearls (especially cultured freshwater 
pearls) can be dyed yellow, green, blue, brown, pink, 
purple, or black. The very best pearls have a metallic 
mirror-like luster.  

 
1) As per the passage, Pearls have also been used in  

A) irons  
B) rituals  
C) medicines  
D) architecture  

 

 
 

2) The finesse of the Pearl's lustre depends on  

A) the layers being transparent  
B) the mollusks being wild  
C) it being produced by rare shelled mollusks  
D) the thinness and the many layers  

 

 
 
3) According to the passage, what unique luster among 
the following is considered as the very best pearl  

A) Yellow luster  
B) Natural pearl luster  
C) Metallic mirror-like luster  
D) Cultured freshwater luster  

 

 
 
4) Pearls can otherwise be termed as  

A) Calcareous concretions  
B) Baroque pearls  
C) Calcium bicarbonate  
D) Conulariid  

 

 
 
5) Pearl is the metaphor for something  

A) Rare  
B) Round  
C) Ductile  
D) White  

 

 
 
6) Select the correct plural form from the given options  
______ can bite when they are angry. 

 
A) Goose's  
B) Geese  
C) Geeses  
D) Gooses  
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7) Select the right form of verb from the given options.  
Please be quiet! The baby ___________. 

 
A) sleeping  
B) is sleeping  
C) slept  
D) sleeps  

 

 
 
8) Select the correct option.  
You are __________ one selected for this job. 

 
A) an  
B) a  
C) no article  
D) the  

 

 
 
9) Find out the most appropriate similar meaning word: 
STRINGENT  

A) Dry  
B) Shrill  
C) Rigorous  
D) Strained  

 

 
 
10) Choose the most appropriate similar meaning word: 
STERILE  

A) Desolate  
B) Fruitful  
C) Potent  
D) Profitable  
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Section 2 - PaperI-Education and General Awareness 

 

11) In order to minimize the prevailing distinction between 
men and women, New Education Policy recommended 
that women should be accorded due place in  

A) Technical and vocational education  
B) Adult Education  
C) Secondary schools  
D) Primary education  

 

 
 
12) Thalassaemia is an inherited disease of  

A) Heart  
B) Lungs  
C) Blood  
D) Kidney  

 

 
 
13) In 1984, State Institute of Education (SIE) secured 
constitutional status like NCERT and has been renamed 
as  

A) Gujarat State Council of Education Research  
B) Uttar Pradesh State Council of Education Research 
C) Bihar State Council of Education Research  
D) Maharashtra State Council of Education Research  

 

 
 
14) Which of the following committees was primarily 
concerned with primary education but it made far-reaching 
recommendations for teacher training as well?  

A) The Acharya Ramamurti Committee  
B) The Abbott - Wood Report  
C) The Hartog Committee  
D) Pires Committee  

 

 
 
15) Which of the following options denote the time 
immediately following the Question Hour in both the 
Houses of Parliament of India?  

A) Eleventh Hour  
B) Zero Hour  
C) Short Discussion Hour  
D) Emergency Hour  
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Section 3 - PaperI-Reasoning 

 

16) Instruction: In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 

  

At what time did the flight depart from the airport today? 

I. Today, the flight departed late by 10 minutes.  

II. The scheduled departure of the flight was at 1:20 A.M 

 
A) 4  
B) 3  
C) 1  
D) 2  

 

 
 
17) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All notebooks are laptops. 
No laptop is desktop. 
 
Conclusions: 
I) No notebook is desktop. 
II) All laptops are notebooks.  

A) Only I follows  
B) None of the conclusions follow  
C) Only II follows  
D) Both I and II follow  

 

 

 
 

18) When 30% of a number is added to a number, the sum 
will be 650. What is 50% of that number?  

A) 300  
B) 145  
C) 120  
D) 250  

 

 
 
19) In a certain code language FACIAL is written as 
KZHBZE. How is PRAWNS written in that code language?  

A) TOXBSQ  
B) RMVZQO  
C) SNWARP  
D) NPYULR  

 

 
 
20) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some textbooks are papers. 
All the notebooks are papers. 
All the slips are textbooks. 
 
Conclusions: 
I) No slip is paper. 
II) All the textbooks are slips. 
III) All the papers are notebooks.  

A) Only III follows  
B) Only II follows  
C) Only I follows  
D) None of the Conclusions follow  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Which of the following options is INCORRECT with 
reference to the advantages of grades for a healthy 
teacher-student relationship?  

A) It stimulates and encourages good work by students  
B) It informs the teacher about what the students have 

or have not learnt  
C) It improves students' capacity to reflect and evaluate 

their learning  
D) It helps set rules and discipline students in a 

classroom  
 

 
 
22) 'We live in a world of guided missiles and misguided 
men'. Who among the following activists said this 
statement?  

A) Nelson Mandela  
B) Martin Luther King Jr.  
C) Coretta Scott King  
D) Rosa Parks  

 

 
 
23) Rohit is the class monitor who was very popular as 
well. In spite of all the affection he got from all his friends 
he saw that Sunil was becoming more popular than him. 
Becoming unhappy at this he started hating Sunil and 
started spoiling all the assignments that Sunil would 
submit. When confronted by the class teacher Mr Ram 
Singh, he simply refused having done any of the mischief. 
What kind of defence mechanism is adopted by Rohit?  

A) Regression  
B) Aggression  
C) Acting Out  
D) Denial  

 

 
 
24) Which of the following methods is relatively less 
suitable to the students?  

A) Co operative learning  
B) Lecture method  
C) Project method  
D) Inquiry based learning  

 

 
 
 
 

25) Mr Sharma found that the students in Class 5 did not 
perform as well as the students of Class 4. When he 
investigated the matter he realized that this was due to the 
noise that came from the adjoining market which was on 
the side of Class 5. This barrier in communication may be 
called as  

A) Mental barrier  
B) Physical barrier  
C) Emotional barrier  
D) Semantic barrier  

 

 
 
26) In context to classroom management, read the 
following statements and choose the CORRECT option.  
(i) All corrective intervention programs need to include a 
healthy balance between negative and positive 
consequences for student behaviour. 

(ii) Praising desired behaviour is usually much more 
effective than reactive discipline and punishment. 

 
A) (i) is TRUE and (ii) is TRUE  
B) (i) is TRUE and (ii) is FALSE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is FALSE and (ii) is TRUE  

 

 
 
27) Given a scenario, where a class is being conducted 
on Law of supply and demand in economics, how can the 
teacher mould it for linguistic learners?  

A) By examining a graph which illustrates the principle  
B) By reading about it to express the concept  
C) By using mathematical formulas to express the 

concept  
D) By observing the law in the natural world  

 

 
 
28) Which of the following is an example of passive 
agencies of education that potentially influence the 
individual (educand) but are never influenced by the 
individual?  

A) Family  
B) School  
C) Sports Club  
D) Radio  
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29) When Raju fell down in the basketball field and hurt 
his leg, his coach took him to a doctor. The doctor said 
that there was no serious injury and that he needed some 
exercise of his bones and muscle. Therefore, he was sent 
to a  

A) psychiatrist  
B) physiotherapist  
C) ophthalmologist  
D) psychologist  

 

 
 
30) Read the following statements and choose the 
CORRECT option. 
 
(i) NTSE (National Talent Search Examination) 2019 is a 
National Level Examination conducted by NCERT 
(National Council of Education Research and Training) to 
provide scholarship to the deserving candidates. 
 
(ii) NCERT publishes textbooks for different school 
subjects for Classes I to XII. 
   

A) (i) is TRUE and (ii) is TRUE  
B) (i) is TRUE and (ii) is FALSE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is FALSE and (ii) is TRUE  
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Section 5 - PaperII-Hindi 

 

31) इनमɅ से Ǔनगु [ण धारा के कͪव कौन थ?े  

A) सूरदास  
B) कबीरदास  
C) तुलसीदास  
D) कुàभनदास  

 

 
 

32) Ǔनàन मɅ से Ĥमुख åयंÊयकार हɇ-  

A) हǐरशंकर परसाई  
B) नेमीचंġ जनै  
C) जयशंकर Ĥसाद  
D) यशपाल  

 

 
 

33) Ǔनàन मɅ से सहȣ शÞद है-  

A) मुँह  
B) मुँहं  
C) महँ  
D) मुँहन  

 

 
 
34) इनमɅ से आǑद काल के एक कͪव का नाम है-  

A) कबीरदास  
B) ǒबहारȣलाल  
C) चंदबरदाई  
D) तुलसीदास  

 

 
 

35) इनमɅ से 'हष[' का ͪवलोम शÞद Èया होगा?  

A) फ़साद  
B) तकलȣफ़  
C) ͪवषाद  
D) Ǔनçकष[  

 

 

36) पɮमावत ͩकसकȧ रचना है?  

A) जायसी  
B) मीराबाई  
C) कबीरदास  
D) तुलसीदास  

 

 
 
37) ‘संèकृǓत के चार अÚयाय’ पुèतक के लेखक हɇ-  

A) रामचंġ शुÈल  
B) हज़ारȣ Ĥसाद ɮͪववेदȣ  
C) नंद दलुारे वाजपेयी  
D) रामधारȣ ͧसहं Ǒदनकर  

 

 
 

38) इनमɅ से Ǒहदंȣ कȧ èवर ÚवǓन कौन सी है?  

A) ग  
B) ज  
C) ख  
D) ए  

 

 
 

39) सूरदास कȧ कͪवता मɅ इनमɅ से ͩकसका िज़Đ नहȣ ंहै?  

A) राधा  
B) पɮमावती  
C) उधव  
D) कृçण  

 

 
 

40) 'ͪपğादेश' ͩकस संͬध का उदाहरण है?  

A) गुण èवर संͬध  
B) यण èवर संͬध  
C) अयाǑद èवर संͬध  
D) वɮृͬध èवर संͬध  
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41) 'ठेठ ǑहÛदȣ का ठाठ' उपÛयास के लेखक का नाम बताएँ।  

A) अयोÚयाͧसहं उपÚयाय 'हǐरऔध'  
B) लाला ĮीǓनवास दास  
C) भगवतीचरण वमा[  
D) राजा लêमण ͧसहं  

 

 
 
42) Ĥ×यय से बने शÞद का उदाहरण कौन सा है?  

A) उपाय  
B) अनुĒह  
C) अनुयायी  
D) अनु  

 

 
 
43) 'लुटेरा' शÞद मɅ Ĥ×यय कȧ पहचान करɅ-  

A) एरा  
B) लूट  
C) रा  
D) टेर  

 

 
 
44) 'अ¢रɉ का मह×व' ǓनबÛध के लखेक कौन हɇ?  

A) बालमुकंुद गुÜत  
B) ͪवɮयाǓनवास ͧमĮ  
C) गुणाकर मुल े 
D) æयामसुÛदर दास  

 

 
 
45) ‘अÈल मारȣ जाना’- इस मुहावरे का सटȣक अथ[ Èया होगा?  

A) बुɮͬध ħçट होना  
B) ͪवचार ख़×म होना  
C) अìल का न होना  
D) Ǒदमाग़ कमज़ोर होना  

 

 
 

46) रȣǓतकाल कȧ कͪवताओं मɅ मुÉय Ǿप से ͩकसका वण[न ͩकया 
गया है?  

A) सɋदय[ और Ĥमे  
B) ईæवर का èवǾप  
C) भिÈत  
D) समाज सुधार  

 

 
 
47) आचाय[ रामचÛġ शुÈल के अनुसार ǑहÛदȣ साǑह×य के इǓतहास 
को मुÉय Ǿप से ͩकतने कालɉ मɅ बाटँा गया है?  

A) तीन  
B) दस  
C) दो  
D) चार  

 

 
 
48) इनमɅ से सहȣ वत[नी वाला शÞद है-  

A) ईçय[  
B) इरèया  
C) ईçया[  
D) एǐरæय  

 

 
 

49) महादेवी वमा[ इनमɅ से ͩकस काल कȧ कͪवǓयğी हɇ?  

A) छायावाद  
B) समकालȣन  
C) भिÈतकाल  
D) Ĥयोगवाद  

 

 
 

50) Ǔनàन मɅ से आनंद का पया[यवाची Èया होगा?  

A) ख़ुशी  
B) हँसी  
C) सहज  
D) ͪवयोग  
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51) रȣǓत काल के मशहूर कͪव हɇ -  

A) नागाजु [न  
B) ǒबहारȣ लाल  
C) मैͬथलȣशरण गुÜत  
D) पुçपदंत  

 

 
 
52) कͪव ‘पंत’ का पूरा नाम Èया है?  

A) सौͧमğ पंत  
B) ͬचğानंदन पंत  
C) सोमनाथ पंत  
D) सुͧमğानंदन पंत  

 

 
Ǔनàनͧलͨखत गɮयांश को Úयानपूव[क पǑढ़ए तथा गɮयाशं मɅ वͨण[त 
तØयɉ के आधार पर उƣर दȣिजए।  
 
हमारे देश, भारत कȧ संèकृǓत एवं सßयता वनɉ मɅ हȣ पãलͪवत तथा 
ͪवकͧसत हु ई है यह एक तरह से मानव का जीवन सहचर है। 
व¢ृारोपण  से ĤकृǓत का संतुलन बना रहता है। व¢ृारोपण  मानव 
समाज का साèंकृǓतक दाǓय×व भी है Èयɉͩक व¢ृारोपण  हमारे जीवन 
को सुखी और संतुͧलत बनाए रखता है। व¢ृारोपण हमारे जीवन मɅ 
राहत और सुख-चैन Ĥदान करता है। भारत कȧ सßयता वनɉ कȧ गोद 
मɅ हȣ ͪवकासमान हु ई है। व¢ृारोपण  हमारȣ संèकृती मɅ समाǑहत है। 
हमारे भारत देश मɅ जहाँ व¢ृारोपण  का काय[ होता है, वहȣं इÛहɅ पूजा 
भी जाता है। कई ऐसे व¢ृ हɇ, िजÛहɅ हमारे Ǒहदं ूधम[ मɅ ईæवर का Ǔनवास 
èथान माना जाता है जैसे नीम, पीपल, आँवला, बरगद आǑद। 
आǑदकाल मɅ व¢ृ  से हȣ मनुçय के भोजन कȧ पूǓत [ होती थी, व¢ृ के 
आसपास रहने से जीवन मɅ मानͧसक संतुलन ओर संतुिçट ͧमलती 
है। वनɉ से हमɅ भवन Ǔनमा[ण कȧ सामĒी ͧमलती है। औषधीय, जड़ी 
बूǑटया,ँ गɉद, घास, तथा जानवरɉ का चारा भी वनɉ से हȣ ĤाÜत होता 
है। वन तापमान को सामाÛय बनाने मɅ सहायक एवं भूͧम को बंजर 
होन ेसे रोकता है। वनɉ से लकड़ी, कागज, फनȸचर, दवाइयाँ, सभी के 
ͧलए हम वनɉ पर हȣ Ǔनभ[र हɇ। वन हमɅ दूͪ षत वायु को Ēहण करके 
शुɮध एवं जीवन दायक वायु Ĥदान करता है। िजतनी वायु और जल 
जǾरȣ है उतना हȣ आवæयक व¢ृ होत ेहɇ, इसͧलए वनɉ के साथ हȣ 
व¢ृारोपण  सभी जगह करना जǾरȣ है। 
 
 

53) व¢ृ के आसपास रहने से हमɅ Èया ͧमलती है?  

A) नई सोच  
B) मानͧसक संतुिçट  
C) दȣघ[ आयु  
D) सु ंदर काया  

 

 
 
54) बढ़त ेतापमान को सामाÛय रखन ेका कारगर उपाय है-  

A) तले कȧ खपत बढ़ाना  
B) बाधँ बनाना  
C) व¢ृारोपण  करना  
D) अͬधक भवनɉ का Ǔनमा[ण  

 

 
 
55) भूͧम को बंजर होने से Èया रोकता है?  

A) ओस  
B) सूय[  
C) वन  
D) आकाश  

 

 
 
56) आǑदकाल मɅ वनɉ से लोग Èया ĤाÜत करत ेथे-  

A) तकनीकȧ चीज़Ʌ  
B) भोजन  
C) मछͧलयाँ  
D) मोबाइल  

 

 
 
57) ͩकस वृ¢ कȧ पूजा नहȣ ंहोती है?  

A) जामुन  
B) आँवला  
C) पीपल  
D) नीम  
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58) 'व¢ृारोपण ’ से Èया लाभ होता है?  

A) Ĥदषूण बढ़ता है  
B) लकड़ी कȧ क़ȧमत बढ़ती है  
C) ĤकृǓत मɅ संतलुन बना रहता है  
D) रोज़गार घटता है  

 

 
 

59) Ĥदषूण को कैसे रोका जा सकता है-  

A) जंगल काटकर  
B) पेड़ बचाकर  
C) पव[त पूजकर  
D) बाधँ बनाकर  

 

 
 
60) हमारे देश कȧ संèकृǓत कहाँ ͪवकͧसत हु ई है?  

A) बफ़[  के क़रȣब  
B) पव[तɉ के पास  
C) समुÛदर के पास  
D) वनɉ के आसपास  

 

 
 
61) इस अनुÍछेद का सहȣ शीष[क हो सकता है-  

A) काल कȧ मǑहमा  
B) व¢ृ और संèकृǓत  
C) नदȣ कȧ मǑहमा  
D) राजनैǓतक और सामािजक पǐरचय  

 

 
 
62) पेड़ कहाँ लगाना चाǑहए?  

A) नदȣ ͩकनारे  
B) अपने आसपास  
C) मंǑदरɉ के पास  
D) सभी जगह  

 

 
 

63) मैͬथलȣशरण गुÜत कȧ कͪवता मɅ इनमɅ से कौन सी भावना Ĥमुख 
Ǿप से åयÈत हु ई है?  

A) राçĚȣय भावना  
B) ईæवर Ĥेम  
C) मशीनɉ का ͪवरोध  
D) ͩकसान जीवन कȧ पीड़ा  

 

 
64) 'दानवीर' मɅ समास कȧ पहचान करɅ।  

A) संĤदान त×पुǽष  
B) अͬधकरण त×पुǽष  
C) कम[ त×पुǽष  
D) संबंध त×पुǽष  

 

 
 
65) छायावाद के Ĥमुख कͪवयɉ मɅ ͩकसने अ£ात ͪĤयतम के ĤǓत 
Ĥणय-Ǔनवदेन ͩकया है?  

A) जयशंकर Ĥसाद  
B) Ǔनराला  
C) महादेवी वमा[  
D) पÛत  

 

 
 
66) सुभġा कुमारȣ चौहान कȧ कͪवताओं मɅ इनमɅ से कौन सा रस है?  

A) वीररस  
B) Įृंगार  
C) शांत  
D) वीभ×स  

 

 
 
67) ओंठɉ से उÍचाǐरत होन ेवाला åयंजन ÚवǓन कौन सा है?  

A) न  
B) प  
C) स  
D) क  
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68) भाववाचक सं£ा का उदाहरण है-  

A) कæमीर  
B) सुÛदर  
C) मूख[ता  
D) दस  

 

 
69) तुलसीदास कȧ कͪवता मɅ Ĥमुख Ǿप से Èया åयÈत हुआ है?  

A) बाéय आडबंर का ͪवरोध  
B) ͪवयोग  
C) सामÛतवाद ͪवरोध  
D) लोकमंगल कȧ भावना  

 

 
 
70) ‘रामचǐरतमानस’ ͩकस भाषा मɅ ͧलखा गया है?  

A) संèकृत  
B) भोजपुरȣ  
C) अवधी  
D) ǑहÛदȣ  
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Section 6 - PaperII-Odia 

 

71) ସୀତା ରାମŋର Ȅିୟ ପūୀ ǆେଲ| େରଖାŋିତ ପଦଟ ିେକଉଁ ସମାସ ଅŽଭƽୁ Ľ?  

A) ଷƪୀ ତǘ ପୁରୁଷ  

B) ଦȭƃȭ  
C) ବହୁȆୀହ ି 
D) କମƽଧାରୟ  

 

 
 

ଅନୁେŒଦ କୁ żାନ େଦଇ ପଢ଼Žୁ ଓ ନମିȪଲିǅତ ȄଶȪ ଗଡୁିକ ର ଉŧର ଦୟିŽୁ 
 
େସବା ଅତ ିମହନୀୟ ଗୁଣ | ଏହା ମନକୁ ନମିƽଳ ଓ ହୃଦୟକୁ ȄଶƱ କେର |ମଣଷିକୁ 
ନȈ ,େଧୖଯƽȻବାǜ ଓ ସହƫୁି କେର |Ƹାଥƽପରତା େସବାର ଶତƿ | େସବା ମାନବକିତାକୁ 
ଵକିଶତି କେର | ଶବି ŗାନେର ଜୀବ େସବା କରବିା ଉଚǘି | ଦଳତି , ପୀଡତି ମାନବ 
ର େସବା କରେିଲ ମାଧବ ସŽୁƨ ହୁଅŽ ି |େଭାକୀ କୁ ଖାଦȻ ,େଶାଷୀ କୁ ଜଳ ଓ 
େରାଗୀ କୁ ଔଷଧ େଦେଲ େସମାନŋର ମନ ଆନƃତି ହୁଏ | ମନ Ȅାଣ େଦଇ 
ମାନବ ର େସବା କରେିଲ ତାହା ମାଧବ େସବା ସହ ସମତୁଲ ହୁଏ | ଚରିǿର ଉƊତ ି
ଓ ମାନବକିତା ର ବକିାଶ ଦଗିେର ଏହ ିସĽିୂଟ ିବେିଶଷ ସହାୟକ ହୁଏ |  

72) 'େରାଗୀ'ର ବପିରୀତ ଶƑ କଣ େହବ?  

A) େରାଗଶୂନȻ  
B) ନେିରାଗ  
C) ଆେରାଗȻ  
D) ନେିରାଗୀ  

 

 
 

73) 'େଧୖଯƽȻ' -ଉĽ ଶƑର Ȅକୃତ ିȄତȻୟ ଉେơଖ କର|  

A) େଧୖ+ଯƽȻ  
B) ଧୀର+ଯ  
C) େଧୖଯƽ+ୟ  

D) େଧୖଯȻ+ର  
 

 
 

74) େଭାକୀ କୁ ଖାଦȻ େଦେଲ େସମାନŋ ମନ ଆନƃତି େହବ| େରଖାŋିତ ପଦ 
ଗଡୁିକ େକଉଁ ସମାସ ଅେଟ?  

A) ୨ୟା ତǘ ପରୁୁଷ  
B) କମƽ ଧାରୟ  

C) ନǒ ତǘ ପୁରୁଷ  

D) ଉପପଦ ତǘ ପରୁୁଷ  
 

75) ଶବି ŗାନେର ଜୀବ େସବା କରବିା ଉଚǘି| େରଖାŋିତ ପଦଟରି ବଭିĽି ଦଶƽାଅ|  

A) ସƌମୀ  
B) ପřମୀ  
C) ଚତୁଥƽୀ  
D) ତୃତୀୟା  

 

 
 
76) 'ସହƫୁି' - େରଖାŋିତ ଯĽୁାŁର ଟ ିେକଉଁ େକଉଁ ବťƽକୁ େନଇ ଗଠତି?  

A) Ǩ+ Ǔ+ଉ  
B) Ǩ+Ǘ+ Ǔ+ଉ  

C) Ǩ+Ǘ+ଉ  
D) ଷ+Ǔ+ǜ+ଉ  

 

 
 
77) 'ସĽିୂ' - ଉĽ ପଦଟରି ସƆ ିବେିŒଦ କର|  

A) ସ ୁ+ଉĽି  
B) ସ+ୂଉĽି  

C) ସ+ୂĽି  
D) ସǉୂ+ ତ ି 

 

 
 
78) େଶାଷୀ - ଉĽ ଶƑେର ǆବା ȄତȻୟକୁ ଚƺିଟ କର|  

A) 'ଇǨ' ȄତȻୟ  
B) 'ଇ' ȄତȻୟ  
C) 'ଇǜ' ȄତȻୟ  

D) 'ଇǉ' ȄତȻୟ  
 

 
 
79) େଯଉଁ ଶƑରୁ େକୗଣସ ିଉପାୟେର େଗାଟଏି େହେଲବ ିବťƽ କାଟ ିହୁଏ ନାହ ǂ , 
ତାକୁ କ ିଶƑ କୁହା ଯାଏ?  

A) େମୗଳକି  

B) ବୁȻŬƊ  
C) ତǘ ଭଵ  

D) େଦଶଜ  
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80) ȄେତȻକ ବଗƽ ର ୫ ମ ବťƽକୁ କଣ କୁହାଯାଏ?  

A) ଅନୁନାସକିା  
B) ଉଷȯ  
C) ଆେଯାଗବାହ  
D) ଅŽଃƳ  

 

 
 
81) ଯାହା Ÿାରା କŧƽା େକୗଣସ ିǰିୟା ସାଧନ କେର , ତାହାକୁ କ ିକାରକ କୁହାଯାଏ?  

A) କମƽ କାରକ  
B) କŧƽା କାରକ  
C) କରଣ କାରକ  

D) ସƔାଦାନ କାରକ  
 

 
 
82) ଗŏାନଦୀ ହମିାଳୟରୁ ବାହାରି ଅଛ?ି େରଖାŋିତ ପଦଟ ିନମିȪଲିǅତ ମżରୁ 
େକଉଁ କାରକ ଅେଟ?  

A) ଅǇକରଣ  

B) କରଣ କାରକ  
C) ଅପାଦାନ  

D) ସƔାଦାନ  
 

 
 
83) 'ତଦଭବ' ର ଓଡ଼ିଆ ଅଥƽ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଠକି?  

A) ତାହା ସହତି ସମାନ  

B) େଦଶରୁ ଜାତ  
C) ଯାହା ଭାବନାରୁ ଜାତ  
D) ତହǂରୁ ଜାତ  

 

 
 
84) ଜଟଳି ବାକȻେର Ȅଧାନ ବାକȻ ଠାରୁ ଅȄାଧନ ବାକȻ ଗୁଡକୁି ପଥୃǉ କରବିା 
ପାଇଁ େକଉଁ ବରିାମ ଚƺି ବȻବହୃତ ହୁଏ?  

A) କମା ,  
B) େକାଲǜ :  
C) େସମେିକାଲନ ;  
D) ହାଇେଫନ-  

 

 

85) 'କଲିଜା' - ଶƑଟ ିେକଉଁ େବୈଦଶକି ଶƑା ବଳୀରୁ ଆସଛି?ି  

A) ଆରବୀ  
B) ଫରାସୀ  
C) ତୁକƽୀ  
D) ପାସƽୀ  

 

 
 
86) 'ମଖୁ ଚƄ'- ଉĽ ସମƱ ପଦଟ ିେକଉଁ କମƽଧାରୟ ସମାସ ଉେơଖ କର|  

A) ରୂପକ  
B) ଉପମତି  
C) ମż ପଦ େଲାପୀ  
D) ଉପମାନ  

 

 
 
87) 'ବƲ' - ଉĽ ଶƑଟ ିର ବନାନ କିପର ିେହବ ଦଶƽାଅ|  

A) ବ+Ʋ  

B) ǟ+ǩ+ǘ+ର  
C) ǟ+ଅ + ǩ+ǘ+ର  

D) ǟ + ǩ+ǘ+ǣ+ଅ  
 

 
 
88) େସ ବୟସେର େମା 'ଠାରୁ ବଡ | େରଖାŋିତ ପଦଟରି ବଭିĽି ଚƺିଟ କର|  

A) ତୃତୀୟା  
B) ସƌମୀ  
C) ଚତୁଥƽୀ  
D) ପřମୀ  

 

 
 
89) େମାେତ େଖଳ ିଆେସ ନାହǂ| େରଖାŋିତ ପଦଟରି ବଭିĽି ଚƺିଟ କର|  

A) Ȅଥମା  
B) ଚତୁଥƽୀ  
C) Ÿତିୀୟା  
D) ସƌମୀ  
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90) ଉŶƽȭ - ଉĽ ପଦର େରଖାŋିତ ଯĽୁାŁର ଟରି ବନାନ କର|  

A) ǚ+Ǜ+ର  
B) ର+ǚ+Ǜ+ଅ  

C) ǣ+ǚ+Ǜ+ୱ  
D) ǣ+ǚ+Ǜ  
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Question Paper No:  53578_4  

Answer Key 

1.  C 
2.  D 
3.  C 
4.  A 
5.  A 
6.  B 
7.  B 
8.  D 
9.  C 
10.  A 
11.  A 
12.  C 
13.  D 
14.  C 
15.  B 
16.  B 
17.  A 
18.  D 
19.  B 
20.  D 
21.  D 
22.  B 
23.  D 
24.  B 
25.  B 
26.  A 
27.  B 
28.  D 
29.  B 
30.  A 

 

31.  B  
32.  A 
33.  A 
34.  C  
35.  C  
36.  A 
37.  D 
38.  D 
39.  B  
40.  B  
41.  A 
42.  C  
43.  A 
44.  C  
45.  A 
46.  A 
47.  D 
48.  C  
49.  A 
50.  A 
51.  B  
52.  D 
53.  B  
54.  C  
55.  C  
56.  B  
57.  A 
58.  C  
59.  B  
60.  D 

 

61.  B  
62.  D 
63.  A 
64.  B  
65.  C  
66.  A 
67.  B  
68.  C  
69.  D 
70.  C  
71.  D 
72.  B  
73.  B  
74.  D 
75.  D 
76.  C  
77.  A 
78.  C  
79.  A 
80.  A 
81.  C  
82.  C  
83.  D 
84.  A 
85.  A 
86.  B  
87.  C  
88.  A 
89.  C  
90.  C  
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Section 1 - PaperI-General English 

 

1) Choose the CORRECT antonym of the underlined 
word in the given sentence. 
It was a great coincidence that the programme was 
conducted on time.  

A)  Scheme  

B)  Chance  

C)  Timing  

D)  Policy  
 

 
 
2) Chose the CORRECT spelling of the word to be filled 
in the blank.    
By mistake the teacher gave them the wrong ________.  

A)  Calendaar  

B)  Calender  

C)  Calendar  

D)  Calander  
 

 
 
3) Pick the CORRECT sentence from the following.  

A)  The boy burn out in the heat of the sun.  

B)  The teacher was burned out by the end of the 
session.  

C)  The building burn out by short circuit.  

D)  The food in the oven burn out.  
 

 
 
4) Choose the CORRECT statement from the given 
sentences.  

A)  The manager blew at the employees.  

B)  The issue was blown in by the members of the 
committee.  

C)  The dog barked so loud the he blew up.  

D)  The boy came in and blew his gum.  
 

 
 
5) Choose the CORRECT form of the tense to complete 
the sentence. 
Today, I _________ for a long time on my computer.  

A)  have play  

B)  played  

C)  have been play  

D)  was play  
 

 

Read the below passage and answer the questions that 
follows:  

The mobile phone is more of a status symbol than an 
object of utility, especially for the youngsters. One can 
now talk, send messages, and even play games on the 
mobile. So, the virus is spreading fast. In today’s fast-
moving world, the ruling mantra is keep moving and yet 
be in touch. With innovations in technology, the latest 
models have introduced many extra features, and 
therefore are a source of greater amusement and delight. 

This is indeed a misuse of technology. First of all, a mobile 
phone is a necessity and not a plaything. In becoming 
addicted to the convenience, we are ignoring the ethics of 
cell phone use. We used to maintain our social 
relationships even before the mobile phones came to be. 
 

 
 
6) What is currently the favourite method of maintaining 
social relationships?  

A)  Writing letters  

B)  Visiting friends  

C)  Social media  

D)  Watching movies  
 

 
 
7) According to the writer, what is a mobile phone?  

A)  A status symbol  

B)  An object of utility  

C)  A plaything  

D)  A gaming device  
 

 
 
8) As per the above passage, which of these is a useful 
function of mobile phones?  

A)  Sending messages  

B)  Make payment transactions  

C)  Watching videos  

D)  Listening to music  
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9) As per the above passage, what has led to many extra 
features in the latest models?  

A)  Sources of amusement  

B)  Newer designs  

C)  Higher prices  

D)  Innovations in technology  
 

 
 
10) Which of the following is the mantra that rule today’s 
world?  

A)  Keep moving and yet be in touch  

B)  Keep different ringtones  

C)  Keep playing games  

D)  Keep the cell phone ringing  
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Section 2 - PaperI-Education and General Awareness 

 

11) In the field of education, which of the following is the 
CORRECT expanded form of the acronym NIOS?  

A)  National Industrial Open School  

B)  National Information for Open School  

C)  National Institute of Open Schooling  

D)  National Institute of Objective Schooling  
 

 
 
12) In April 2018, who among the following was sworn in 
as first woman lawyer in Supreme Court judge?  

A)  Indu Malhotra  

B)  Pratibha Devisingh Patil  

C)  Sarla Thakral  

D)  Homai Vyarawalla  
 

 
 
13) Which of the following statements is TRUE to consider 
Education as a product?  

A)  The learner acquires knowledge, skills and values as 
outcomes of learning  

B)  The act of developing the intellect, critical thinking 
abilities is involved in the process of learning  

C)  The learning takes place throughout life which is an 
active and a dynamic process  

D)  The learning involves social and cultural 
understanding, and understanding of one’s own self  

 

 
 
14) We feel water colder than air at the same temperature. 
Which of the following is the CORRECT reason for this?   

A)  The specific heat capacity of water is more than air  

B)  The latent heat of air is more than water  

C)  The density of air is more than water  

D)  The specific heat capacity of air is more than water  
 

 
 
15) Which of the following Articles of the Indian 
Constitution envisages free and compulsory education for 
all children in the age group of 6-14 years?  

A)  Article 23A  

B)  Article 21A  

C)  Article 26B  

D)  Article 23B  
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Section 3 - PaperI-Reasoning 

 

16) If GOA is coded as HIJPQRBCD, then TRUE will be 
coded as  

A)  UVWSTUVWXGFH  

B)  UVWSTUVXWFGH  

C)  UVWSTUWVXGFH  

D)  UVWSTUVWXFGH  
 

 
 
17) Naira’s brother in law is Shivangi’s son. Mihika’s 
brother in law is Naira’s husband, who is Prajwal Kumar’s 
son. Naira and Mihika are Prajwal Kumar’s  

A)  Sisters in law  

B)  Sisters  

C)  Daughters in law  

D)  Cousins  
 

 
 
18) Disha's mother's only brother's daughter is Jay's wife. 
How is Jay's father-in-law related to Disha?  

A)  Uncle  

B)  Uncle’s son  

C)  Sister’s son  

D)  Brother’s son  
 

 
 
19) Pointing to a person, Suraj said,” She is the maternal 
grandmother of my sister’s daughter.” How is Suraj’s 
father is related to that person?  

A)  Son in law  

B)  Wife  

C)  Mother  

D)  Husband  
 

 
 
20) What is the next term in the given series?  

1101, 1090, 1080, 1071, ? 
 

A)  1064  

B)  1063  

C)  1065  

D)  1062  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Who among the following is a representative of 
‘Absolute idealism’?  

A)  Gandhi  

B)  Rousseau  

C)  Maria Montessori  

D)  Fichte  
 

 
 
22) The teachers who teach Classes 9 and above in Bal 
Bharti School tell students about careers which students 
can enter into after they complete their school education. 
This means that they are providing them  

A)  vocational education  

B)  psychological education  

C)  social education  

D)  simple education  
 

 
 
23) The last stage of development according to Erikson 
speaks about  

A)  Love versus hate  

B)  Intimacy versus isolation  

C)  Hope versus loss  

D)  Ego-integrity versus despair  
 

 
 
24) National Institute for the Empowerment of Persons 
with Intellectual Disabilities ( Divyangjan) is the new name 
for  

A)  National Institute for the Slow Learners  

B)  National Institute for Emotionally Disturbed  

C)  National Institute for the Mentally Handicapped  

D)  National Institute for the Mentally Retarded  
 

 
 
25) A child who is prone to negative behaviour just to 
overcome the ill treatment he gets at home at the hands 
of his foster parents can be said to be indulging in  

A)  Suppression  

B)  Displacement  

C)  Sublimation  

D)  Denial  
 

 

26) According to Freud the situation where children 
become very possessive of the opposite gender parent 
especially in the case of boys is called as  

A)  Oedipus complex  

B)  Superiority complex  

C)  Electra complex  

D)  Inferiority complex  
 

 
 
27) The UGC was founded in the year  

A)  1958  

B)  1957  

C)  1956  

D)  1959  
 

 
 
28) Ms Romi the class teacher realized that Richa had a 
problem in writing properly after meeting with an accident. 
Richa was probably suffering from a learning disability 
called  

A)  dysgraphia  

B)  dyslexia  

C)  dyspepsia  

D)  dyscalculia  
 

 
 
29) When Ms Reena saw that many students in her class 
were not able to do well in Hindi in spite of all her efforts 
she decided to form groups so that students learnt from 
each other. What form of teaching is this  

A)  Helpful learning  

B)  Passive learning  

C)  Peer tutoring  

D)  Active learning  
 

 
 
30) We would associate Ananda Yoga with which of the 
following philosophers?  

A)  Vivekananda  

B)  Tagore  

C)  Raja Ramohan Roy  

D)  Gandhi  
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Section 5 - PaperII-Hindi Language 

 

31) ‘दसरथ सुत ततहुुं लोक बखाना। 
राम नाम का मरम है आना।।’ 
-इस पुंक्तत के लेखक कौन हैं?  

A)  कबीरदास  

B)  तुलसीदास  

C)  सूरदास  

D)  रहीम  
 

 
 

नीच ेददए गए अनुच्छेद के आधार पर प्रश्न का उत्तर दें।  
 

पपछले कुछ सालों में पर्ाावरणीर् चतेना बढी है। पवकल्पों पर गम्भीर 
चचन्तन हुआ है तथा कहा जाने लगा है कक पर्ाावरण को बबना हातन 

पहुुँचाए र्ा न्रू्नतम हातन पहुुँचाए दिकाऊ पवकास सम्भव है। र्ही 
बात प्राकृततक सुंसाधनों के सन्दभा में कही जाने लगी है। कुछ लोग 

उदाहरण देकर बतात ेहैं कक लगभग 5000 साल तक खेती करने, 
रु्द्ध सामग्री तनमााण, धातु शोधन, नगर बसाने तथा जुंगलों को काि 

कर बेवर खेती करन े के बावजूद अथाात पवकास और प्राकृततक 

सुंसाधनों के बीच तालमेल बबठाकर उपर्ोग करने के कारण प्राकृततक 

सुंसाधनों का ह्रास नहीुं हुआ था। तो कुछ लोगों का कहना है कक 

पररक्थथततर्ाुँ तथा आवश्र्कताओुं के बदलने के कारण भारतीर् 

उदाहरण बहुत अचधक प्रासुंचगक नहीुं है। फाससल ऊजाा के पवकल्प के 

तौर थवच्छ ऊजाा जैसे अनेक उदाहरण अच्छे भपवष्र् की उम्मीद 

जगात ेहैं। सम्भवतः इसी कारण पवश्वव्र्ापी चचन्ता इततहास से सबक 

लेती प्रतीत होती है। पर्ाावरण को हातन पहुुँचाने में औद्र्ोगीकरण 

तथा जीवनशैली को क्जम्मेदार माना जाता है। र्ह पूरी तरह सच नहीुं 
है। हकीक़त में समाज तथा व्र्वथथा की अनदेखी और पर्ाावरण के 

प्रतत असम्मान की भावना ने ही सुंसाधनों तथा पर्ाावरण को सवााचधक 

हातन पहुुँचाई है। उसके पीछे पर्ाावरण लागत तथा सामाक्जक पक्ष की 
चतेना के अभाव की भी भूसमका है। 

 
 

32) पवश्वव्र्ापी चचुंता ककससे सबक ले रहा?  

A)  प्राकृततक सुंसाधनों से  

B)  इततहास से  

C)  पर्ाावरण से  

D)  प्रदषूण से  
 

33) प्राकृततक सुंसाधनों के ह्रास को कैसे रोका जा सकता है?  

A)  जुंगलों को कािकर बेवर खेती करन ेसे  

B)  प्राकृततक सुंसाधनों के उपर्ोग पर प्रततबुंध लगाकर  
C)  पवकास और प्राकृततक सुंसाधनों के बीच ताल-मेल बबठाकर  
D)  पवऔद्र्ोगीकरण से  

 

 
 

34) तर्ा अच्छे भपवष्र् की उम्मीद जगात ेहैं?  

A)  फाससल उजाा के पवकल्प  

B)  गम्भीर चचुंतन  

C)  दिकाऊ पवकास  

D)  औद्र्ोगीकरण  
 

 
 

35) पपछले कुछ वषों में ककस पर गम्भीर चचुंतन हुआ है?  

A)  प्राकृततक सुंसाधन  

B)  दिकाऊ पवकास  

C)  जीवन शैली  
D)  औद्र्ोगीकरण  

 

 
 

36) पर्ाावरण को हातन पहुुँचाने वाले कारक हैं?  

A)  फाससल ऊजाा का अुंधाधुुंध प्रर्ोग  

B)  पर्ाावरण के प्रतत असम्मान की भावना  
C)  औद्र्ोगीकरण  

D)  जीवन शैली  
 

 
 

37) घडो पानी पड़ जाना' मुहावरे का सही अथा है-  

A)  मूखा होना  
B)  मर जाना  
C)  बहुत अचधक शसमिंदा होना  
D)  बहुत अचधक कष्ि झलेना  
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38) उत्कषा' शब्द में कौन सा उपसगा जुड़ा है?  

A)  उ  

B)  षा  
C)  अषा  
D)  उत ् 

 

 
 

39) क्जदगीनामा' उपन्र्ास की लेखखका कौन हैं?  

A)  उषा पप्रर्ुंवदा  
B)  अलका सरावगी  
C)  मन्नू भुंडारी  
D)  कृष्णा सोबती  

 

 
 

40) इनमें से 'तवगा' वणा कौन सा है-  

A)  दुंत्र्  

B)  तालव्र्  

C)  दुंतोष््र्  

D)  ओष््र्  
 

 
 

41) प्लाि का मोचाा' ककसका ररपोतााज है?  

A)  उपेन्रनाथ अश्क  

B)  फणीश्वरनाथ रेणु  

C)  शमशेरबहादरु ससुंह  

D)  धमावीर भारती  
 

 
 

42) आत्मनेपद' तनबुंध सुंग्रह ककसका है?  

A)  अजे्ञर्  

B)  रामचन्र शुतल  

C)  मुक्ततबोध  

D)  हजारी प्रसाद द्पववेदी  
 

 

 

43) जूठन' आत्मकथा के रचनाकार कौन हैं?  

A)  कौशल्र्ा बैसुंती  
B)  सूरज पाल चौहान  

C)  ओमप्रकाश वाल्मीकक  

D)  मोहनदास नैसमशरार्  
 

 
 

44) इनमें से एकवचन का उदहारण है-  

A)  गुड़ड़र्ा  
B)  नाररवृुंद  

C)  थरीजन  

D)  पाठकगण  
 

 
 

45) तनम्नसलखखत मुहावरों में से जो सही सुमेसलत नहीुं है, उसकी 
पहचान करें।  

A)  दाल में काला होना - मतलब न तनकलना  
B)  नौ-दो ग्र्ारह होना - भाग जाना  
C)  छतके छूिना - दहम्मत हारना  
D)  तीन तरेह होना - तततर बबतर होना  

 

 
 

46) पथृ्वीराज रासो' ककसकी रचना है?  

A)  रामचन्र शुतल  

B)  चुंदबरदाई  

C)  श्र्ामसुन्दर दास  

D)  हजारी प्रसाद द्पववेदी  
 

 
 

47) पे्रमचन्र के ककस उपन्र्ास का पार होरी है?  

A)  सेवा सदन  

B)  गोदान  

C)  गबन  

D)  रुंगभूसम  
 

 



Set Id : 47118_11 10Aug18_Batch4_B H Ed 

Page8of16  

48) राम धीरे-धीरे िहलता है।' वातर् में किर्ा पवशेषण तर्ा है-  

A)  धीरे  
B)  िहलता  
C)  धीरे-धीरे  
D)  राम धीरे  

 

 
 

नीच ेददए गए अनुच्छेद के आधार पर प्रश्न का उत्तर दें। 
  

‘देवदारु भी सब एक से नहीुं होत।े मेरे बबलकुल पास में जो है, वह जरठ 

भी है, खूसि भी। जरा उसके नीच ेकी ओर जो है, वह सनकी-सा लगता 
है। एक मोिे राम खड्ड के एक प्राुंत पर उगे हैं, आधे जमीन में, आधे 

अधर में, आधा दहथसा ठूुँठ, आधा जगर-मगर, सारे कुनबे के पाधा 
जान पड़त ेहैं। एक अल्हड़ ककशोर है, सदा हुँसता-सा, कपव जैसा लगता 
है। जी करता है इसे प्र्ार ककर्ा जाए।हर देवदारु का अपना व्र्क्ततत्व 

होता है। एक इतना कमनीर् था कक बैल की ध्वजा वाले महादेव ने 

उसे अपना बेिा बना सलर्ा था। कासलदास खुद कह गरे् हैं। मगर कुछ 

लोग ऐसे होत ेहैं कक उन्हें 'सबै धान बाईस पसेरी' ददखत ेहैं। वे लोग 

सबको एक ही जैसा देखत ेहैं। पर मेरे सामने जो अल्हड़ कपव है, इसका 
तर्ा होगा? वह तो कदहए कक इधर हाथी आत ेही नहीुं। कफर भी डर तो 
लगता ही है। हाथी न सही गधों और खच्चरों से तो शहर भरा पड़ा है। 
लेककन मैं क्जधर हूुँ उधर वे भी कम ही आत ेहैं। गाहे-बगाहे आ भी जाते 
हैं पर उन्हें देवदारु की तरफ देखने की फुरसत नहीुं होती। उन्हें देखने 

को और बहुत-सी चीजें समल जाती हैं। इस देश के लोग पीदढर्ों से ससफा  
जातत देखत ेआ रहे हैं, व्र्क्ततत्व देखने की उन्हें न आदत है न परवाह 

है। सुंत लोग चचल्लाकर थक गरे् कक 'मोल करो तलवार को, पड़ा रहन 

दो म्र्ान' के मोल भाव से बाजार गमा। व्र्क्ततत्व को र्हाुँ पूछता ही 
कौन है। अथामार जातत है, छुंदमार व्र्क्तत है। अथा आसानी से 

पहचाना जा सकता है तर्ोंकक वह धरती पर चलता है, छुंद आसानी से 

पकड़ में नहीुं आता, वह आसमान में उड़ा करता है।‘ 

 
 

49) अल्हड़ ककशोर कौन है?  

A)  गधा  
B)  कपव  

C)  हाथी  
D)  देवदारु  

 

 

50) 'सवै धान बाईस पसेरी' का अथा है?  

A)  पढे-सलखों में बेकारी  
B)  दसूरों में दोष तनकालना  
C)  सभी के साथ एक-सा बतााव  

D)  सथती चीजें खराब होती हैं  
 

 
 

51) अल्हड़ कपव को ककससे डर है?  

A)  कपव से  

B)  गधों से  

C)  हाचथर्ों से  

D)  ससुंह से  
 

 
 

52) आसमान में कौन उड़ता है?  

A)  व्र्क्तत  

B)  देवदारु  

C)  हाथी  
D)  जातत  

 

 
 

53) देवदारु तर्ा है?  

A)  पशु  

B)  खूसि  

C)  उष्णकदिबुंधीर् बन  

D)  सदाबहार बन  
 

 
 

54) सरहपा की रचना कौन सी है?  

A)  कुमार पाल चररत  

B)  पउम चररउ  

C)  गोरख बानी  
D)  दोहाकोश  
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55) झगड़ालू' में प्ररु्तत प्रत्र्र् पहचानें-  

A)  झ  

B)  आलू  
C)  लू  
D)  ऊ  

 

 
 

56) अन्र्ार् क्जधर है उधर शक्तत' पुंक्तत ककसकी है?  

A)  जर्शुंकर प्रसाद  

B)  माखनलाल चतुवेदी  
C)  सूर्ाकान्त बरपाठी तनराला  
D)  श्र्ामनारार्ण पाण्डेर्  

 

 
 

57) लक्ष्मण की पत्नी उसमाला को नातर्का बनाकर ककस कृतत की 
रचना की गई है?  

A)  भारत-भारती  
B)  साकेत  

C)  र्शोधरा  
D)  जतर्नी  

 

 
 

58) दहुंदी सादहत्र् के आरुंसभक काल को 'ससद्ध सामुंतकाल' नाम 

ककसने ददर्ा?  

A)  राहुल साुंकृत्र्ार्न  

B)  चग्रर्सान  

C)  हजारी प्रसाद द्पववेदी  
D)  रामचुंर शुतल  

 

 
 

59) तनम्न में से 'लोभ और प्रीती' तनबुंध के लेखक कौन हैं?  

A)  प्रतापनारार्ण समश्र  

B)  भारतेंद ु 

C)  रामचुंर शुतल  

D)  बालकृष्ण भट्ि  
 

 

60) थमतृत की रेखाएुँ' की लेखखका कौन हैं?  

A)  महादेवी वमाा  
B)  मन्नू भुंडारी  
C)  सुभरा कुमारी चौहान  

D)  मैबरर्ी पुष्पा  
 

 
 

61) तनम्नसलखखत में हथव थवर कौन सा है?  

A)  उ  

B)  ऐ  

C)  ई  

D)  ए  
 

 
 

62) "असमर्, हलाहल, मदभरे, सेत, श्र्ाम रतनार। 
क्जर्त, मरत, झुकक-झुकक परत, जेदह चचतवत इक बार।। 
उपरोतत पुंक्तत ककसकी है-  

A)  भूषण  

B)  देव  

C)  रसलीन  

D)  बबहारी  
 

 
 

63) तनशा-तनमुंरण' गीत सुंग्रह ककसकी है?  

A)  ससर्ाराम शरण गुप्त  

B)  मैचथलीशरण गुप्त  

C)  हररवुंशरार् बच्चन  

D)  ददनकर  
 

 
 

64) बरवै नातर्का भेद' के रचतर्ता कौन हैं?  

A)  रसखान  

B)  तुलसीदास  

C)  रहीम  

D)  नुंददास  
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65) इनमें से कौन सी रचना नागाजुान की है?  

A)  बादल को तघरत ेदेखा है  

B)  रामदास की हत्र्ा  
C)  कुआनों नदी  
D)  प्रवासी के गीत  

 

 
 

66) तनम्न पवकल्पों में से पुक्ल्लुंग शब्द कौन सा है?  

A)  गोदावरी  
B)  नीलचगरी  
C)  महासागर  
D)  गुंगा  

 

 
 

67) महाप्राण ध्वतन की पहचान करें-  

A)  ल  

B)  ि  

C)  ग  

D)  भ  
 

 
 

68) दहुंदी के वणा ककस सलपप में सलखे जात ेहैं?  

A)  ब्राम्ही  
B)  देवनागरी  
C)  कैथी  
D)  फारसी  

 

 
 

69) इनमें से कौन सा 'गदहा' का पर्ाार्वाची शब्द नहीुं है?  

A)  तुरुंग  

B)  धूसर  
C)  वैशाखनुंदन  

D)  खर  
 

 

 

70) इुंथपेतिर मातादीन चाुँद पर' ककसकी रचना है?  

A)  कमलेश्वर  
B)  ममता कासलर्ा  
C)  हररशुंकर परसाई  

D)  मनोहर श्र्ाम जोशी  
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71)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

72)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

73)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

74)  

A)  
 

B)  
 

C)  
 

D)  
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75)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

76)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

77)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

78)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

79)  

A)  
 

B)  
 

C)  
 

D)  
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80)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

81)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

82)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

83)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

84)  

A)  
 

B)  
 



Set Id : 47118_11 10Aug18_Batch4_B H Ed 

Page14of16  

C)  
 

D)  
 

 

 
 

85)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

86)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

87)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

88)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 

 



Set Id : 47118_11 10Aug18_Batch4_B H Ed 

Page15of16  

89)  

A)  
 

B)  
 

C)  
 

D)  
 

 

 
 

90)  

A)  
 

B)  
 

C)  
 

D)  
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Answer Key  

1.  A  

2.  C  

3.  B  

4.  D  

5.  B  

6.  C  

7.  A  

8.  A  

9.  D  

10.  A  

11.  C  

12.  A  

13.  A  

14.  A  

15.  B  

16.  D  

17.  C  

18.  A  

19.  D  

20.  B  

21.  D  

22.  A  

23.  D  

24.  D  

25.  B  

26.  A  

27.  C  

28.  A  

29.  C  

30.  B  
 

31.  A  

32.  B  

33.  C  

34.  A  

35.  A  

36.  B  

37.  C  

38.  D  

39.  D  

40.  B  

41.  C  

42.  A  

43.  C  

44.  A  

45.  A  

46.  B  

47.  B  

48.  C  

49.  B  

50.  C  

51.  C  

52.  A  

53.  B  

54.  D  

55.  B  

56.  C  

57.  B  

58.  A  

59.  C  

60.  A  
 

61.  A  

62.  C  

63.  C  

64.  C  

65.  A  

66.  C  

67.  D  

68.  B  

69.  A  

70.  C  

71.  D  

72.  A  

73.  A  

74.  D  

75.  C  

76.  B  

77.  B  

78.  B  

79.  C  

80.  D  

81.  A  

82.  C  

83.  A  

84.  D  

85.  B  

86.  B  

87.  D  

88.  B  

89.  B  

90.  B  
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